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Lecture 5: Ideal Op Amps

• Announcements:

• HW#2 online and due next Friday via Gradescope, 
which means you will submit pdf

• General Lab Instruction Manual online in the “Labs”
link of the website

• Labs start next week

Monday, Sept. 3 is a holiday, so the Monday 
lab will start one week later

The Tuesday lab starts Sept. 4

• Will let in concurrent enrollments soon

• -------------------------------------

• Lecture Topics:

Amplifier Models (2-port networks)

Input Ri

Output Ro

Ideal Voltage Amplifier

Ideal Op Amps

Negative Feedback

Op Amp Circuits

• -------------------------------------

• Last Time:

• Going through amplifier models

• Now, continue with this …

• All of these are equivalent representations, each 
comprising a gain factor along with an input and 
output resistance that model the resistance seen 
looking into the amplifier terminals

• Take for example a voltage amplifier:
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• Remarks: (on neg. FB)

• Neg. FB can insure vo = finite even with a=infinity

• Overall closed-loop gain (or transfer function) is 
dependent only on external components (e.g., )

• Overall closed-loop gain So/Si is independent of 
amplifier gain a

• This is very important, since it’s easy to get large 
amplifier gain, but it’s hard to get an exact value

If you’re shooting for a=50,000, you might get 
47,000 or 60,000 instead

But it won’t matter much in the feedback ckt.


